HOE ol & A O A A
2008 E 204 LEHSIH
5550 4 EA N
S AMNM Xl (S M)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
AL F M 45, 118, 680 60, 542, 830 A15, 424, 200
FX L SAHE 45, 097, 400 60, 526, 680 A15, 429, 280
AL4F3H XA 230, 400 188, 880 41,520
AT HEAMSE S 230, 400 188, 880 41,520
201 LEer2gH| 99, 800 62, 880 36, 920
01 ALR&eld] 67, 800 62, 880 4,920
o284 = 45, 000
Oget==2H| = 6, 000
Or=1=i:] = 16, 800
03 EAr2gl 32, 000 0 32, 000
OAHEI =X EEUS = 32,000
202 044l 55, 000 50, 400 4,600
01 =Ll 55, 000 50, 400 4,600
AT YPEW - 55, 000
203 E R =&l 75, 600 75, 600 0
03 AIMFXHRELZIH| 75, 600 75, 600 0
OBOIAY Y SIORENBEX - 40, 000
QatE+E0ld Y NL=HARFH = 20, 000
OALDE ABEX - 12,000
AT YREW - 3,600
S3XNS N 35, 698, 000 37,714,000 A 2,016,000
HHEL dZ2e2 A4 8, 052, 000 7, 626, 000 426, 000
401 AlEHIZ 20| 8, 052, 000 7,626, 000 426, 000
04 Al&HI 7,727,000 6, 584, 000 1,143, 000
QUHI2Y A2E=2 = 7,727,000
(2 7,727, 000]
05 Z2e2lbl 300, 000 400, 000 2100, 000
QuH2Y 22 = 300, 000
= 300, 000]
06 Al&=CHYI 25, 000 16, 000 9, 000
QuH2d dZ2&=2 = 25,000
= 25, 000]
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HAEHNA N (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SHUMSAAMSE SR AgEz HL 12, 146, 000 1, 500, 000 10, 646, 000
401 AlEHIZ 20| 12, 146, 000 1, 500, 000 10, 646, 000
03 EXIOHYI 196, 000 0 196, 000
OBMEAMSSHI K2 BAZ = 196, 000
04 Al&HI 11, 344, 000 1, 000, 000 10, 344, 000
OUMAAMIHB K HLEZ = 11, 344, 000
[Z 11, 344, 000]
05 Zeldl 578, 000 0 578, 000
OUMAAMMB K MLEZ = 578, 000
(2 578, 000]
06 Al&=CHHI 28, 000 0 28, 000
OUMAAMMB K MLEZ = 28, 000
= 28, 000]
JIOAL =8t 2 H4 500, 000 4, 000, 000 A 3,500, 000
401 AlEHIZ 20| 500, 000 4,000, 000 A3, 500, 000
04 Al&H| 274,000 2, 890, 000 A2,616, 000
OJtotat &=8t&E 2 = 274, 000
[ 274, 000]
05 Zelbl 210, 000 100, 000 110, 000
OJtotat &=8t& 2 = 210, 000
[ 210, 000]
06 Al&=CHYI 16, 000 10, 000 6, 000
OJtokat &=8t&E 2 = 16, 000
[& 16, 000]
IHESAX 7 HE X 15, 000, 000 24, 438, 000 A9, 438, 000
403 XX SHSA201H 15, 000, 000 24, 438, 000 A9, 438, 000
01 XXHHA=2EX 15, 000, 000 24, 438, 000 A9, 438, 000
OML=&XF g = 15, 000, 000
(2 15, 000, 000]
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HEFHOUX R S AR
S S AIHE 2t (ctel A&
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
SAIHE 2te) 3, 120, 000 2, 748, 800 371, 200
HEHet2Aete JRFA 40, 000 30, 000 10, 000
202 044l 7,000 3,100 3, 900
01 3L bI 7,000 3,100 3, 900
OMEHEt < 2tel = 7,000
s 7, 000]
308 AXIHHSO0IA 33, 000 26, 900 6, 100
01 AXESHMBAEEZ 33, 000 26, 900 6, 100
Ofgrstrg el Al X2 (4A2) = 33, 000
s 33, 000]
HEHe =S FAUXA 3, 080, 000 2,718,800 361, 200
403 X SMS K201 & 3, 080, 000 2,718,800 361, 200
01 XXSHXA=2EX 3, 080, 000 2,718,800 361, 200
OIHLHMEt=S =LA A 4,400, 000, 000& *70% = 3, 080, 000
s 3, 080, 000]
SANYE =4 6, 049, 000 19, 825, 000 A13, 776,000
SAAHEAE ALY K& 6, 049, 000 19, 825, 000 213,776,000
403 XXM SK=01& 6, 049, 000 19, 825, 000 A13,776, 000
01 XXSHHMA2EE 6, 049, 000 19, 825, 000 A13, 776,000
Ollgs SAHEZZ JtEd Y &X
200, 000, 000& *50% = 100, 000
O=s8z o0& =H 100, 000, 000& *50% = 50, 000
O&313 IJt)el otaz2 =&
200, 000, 000& *50% = 100, 000
O&32s TANHEEZ OtA2 ZH
140, 000, 000& *50% = 70, 000
OlE1s BE852 AE=H 200,000, 0002 *50% = 100, 000
Og=28 TAMHEZZ Z& 100,000, 000& *50% = 50, 000
OMRIE &2 & &5 A2 HM 2D
100, 000, 000& *50% = 50, 000
OFdEs TAHEEZZ K- 100, 000, 000& *50% = 50, 000
Ottas TAAHEEZ HE 100, 000, 0002 *50% = 50, 000
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HeEANEY S4 (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OR&Es-S3ts HEANEZ 100, 000, 000& *50% = 50, 000
Ossel SAAHEEZ 1, 000, 000, 0002 *50% = 500, 000
o&iel SAIAHEE 1, 000, 000, 000& *50% = 500, 000
OHE NHEH &2 1, 000, 000, 000& *50% = 500, 000
Oz TAHEEZ 400, 000, 000& *50% = 200, 000
OHe Sel TAIHEEZ 200, 000, 000& *50% = 100, 000
O&EY AIDHX EE=FH| 2, 000, 000, 000 *50% = 1, 000, 000
Oollétel EEE | 400, 000, 000& *50% = 200, 000
OCHEE A& CHEI AIJEX &I 2, 379, 000
= TANHEEZ 4 2, 380, 000, 000& *50% = 1, 190, 000
20 432 T2 &4 2, 378, 000, 000& *50% = 1,189, 000
HY2AGU (AL H ) 21,280 16, 200 5, 080
ol 2| 10, 200 8, 400 1,800
ol 2G| 10, 200 8, 400 1,800
203 Z R =&l 10, 200 8, 400 1, 800
01 J|22IHRF=LXI 6, 000 4,200 1,800
o= = 6, 000
04 BEA2IHRZ=EUI 4,200 4,200 0
OALdE = 4,200
JlE2Ztl 11, 080 7,800 3,280
JI2ZHl 11, 080 7,800 3,280
201 LBt E| 10, 080 7,800 2,280
01 AtSR2teldl 10, 080 7,800 2,280
Oget=Z| = 10, 080
405 RtotE =H| 1, 000 0 1,000
01 AL EEFSHI 1, 000 0 1, 000
O&= HOISII(eISDI) = 1,000




